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MR UREE] | FSR(m) | IR (kgim) AP E(kg)
12/9 150 m 3.8 kg/m 571 kg
. 12/13 150 m 1.4 kg/m 213 k
PN 2 =
12/20 300 m 5.0 kg/m 1,514 kg
1/6 50 m 2.2 kg/m 108 kg
- 12/10 50 m 0.8 kg/m 41 kg
12/20 50 m 2.8 kg/m 141 kg
J— 12/14 20 m 0.1 kg/m 2 kg
178
12/21 20 m 1.4 kg/m 28 kg
. 12/8 30 m 1.3 kg/m -
1 2
12/24 30 m 1.1 kg/m -
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12/9, 1213 FHIFRE X, v — 7% @ (EERRH 855 47
12/20, 1/6 % « BRHIRE R E AT, v— 7B EER 1,320 4y
1112, 119 FERR. $FTHE L E3ERR 270 5
6/9. 6/10 v —7[alNEE {E3RHE 1,410 43
- IHE - RS
1/26~3/24 7,685 %y
VEZERRRE] 192.3 BFHE
Hiff & 2,405kg. 72 L& 1,319,781 H. “EHHifi 548.8 M/kg
(R2 FEif Hifirt 884kg. 7t b 609,482 M., ¥y HL{H 689.5 F/kg)

fi-2f8 300 m X165 F/m+350 m <105 [/m=86,250 [
A e 1,319,781 F-FE-4# (X 86,250 F1=1,233,531 M
Refs  FIAE 1,233,531 +192.3 K5 = 6,414.6 M/

[t EL A RN SRR ]
- HEE(

12/10, 12/20 FRESAT, o —75%E  (EERFH 155 7
127, 2/28 w—7fRkr  {E3EKFH 120 4
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127, 2/28 INHE, i EZERFHE 150 47
VESERRRT 7.1 BER

Hifhi & 182kg. 72 B 115,542 . - Hl 634.8 [/kg
fli2f 50 mx 165 F/m+50 m <105 F/m =13,500 [
R4k Hifr 115,542 FH-fE 418 13,500 FH=102,042
s Fll3E 102,042 [+7.1 B =14,372.1 F/ERR




